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  :أ�� و أ����– 1
(((( 654,8  +4836, 07) −−−− ((((9789,45 −−−− 8516,8) 

45,7 ×××× 9,56 

457 ÷÷÷÷ 15 �رج ���ب ا�� ا����ة ا��            

�رج ���ب ا��ا�� 0,18 ÷÷÷÷ 3,957 ��       أ!�اء ا��

 

2 -  �$��   864 – 7830  - 9630 – 435  - 420 – 371: �*%(� ا)'�اد ا�%
  >7 ;ن وا�� ؟3 و �2�ه7  ا)'�اد ا�%7 �6(5 ا��4�� '�3   - أ

 >7 ;ن وا�� ؟ 5  و�2�ه7  ا)'�اد ا�%7 �6(5 ا��4�� '�3   - ب

 >7 ;ن وا�� 9 و5 و 3 و �2�ه7  ا)'�اد ا�%7 �6(5 ا��4�� '�3   - ت
 ؟

 ��د ا�*�د ا��4Cي ا�*�Aي وا�*�د ا��4Cي B$� ا�*�Aي �< ?$< ا)'�اد – 3
 �$��  :ا�%
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     و      6
5

    و  3
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4– 73D�� E�6 أ  : 
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5 –  �D�45 أ'�اد آCG �3' �D�A*ا)'�اد ا� H%أآ  
  

0,12     -     53.7    –     0,456  
  

 6  - I$�J6 ارس ه� ى��إ  '�د��684 ا� I$�36ا ، 
6

2$�J%د ا��' >� I �3ن ا����%D 

 �)' �Oر��7ا�Oر��ا���5 ا� �3<��ل ��*%Oا ،
9

    �< '�د ا�%4D I$�J%*��3ن4

D ن�Q��ص ، وا�(S 5�� 5T�O�3ن را!3$< و��%.  
� --       أ Oر��ص �3�  .  أ�H4 '�د ا�%I$�J ا��%���3ن '(� ا���5 ا��

  . أ�H4 '�د ا�%I$�J ا��ا!3$< -      ب 

 �  ا)�Oوس ا)ول2  ا�ـ�4%��ةا�ـ��اQـ(

� اWدارة ا���7/ ا)بX�J�ا� 
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�  �$[  EFGHأ�G  \A(] ���Zف  -7Dا��او ET�  :  ا��
  -'�Q   ى�)C6] ا��GH = 7 cm  
  -'�Q   6]  ا�_^�ى�EF= 4 cm  
  - ['�  EH=3,5cm إر6`
  

8- \Aأ� ABCDع �$[  �%�ازي اJ�J�AB=5cm  وBC = 3cm 

  ABC=110ºو

  
�  �TIة ا�%7 ��آ�ه�  أ�A\ ا��ا–9c'�*G3,5وcm  .  

     -    >$%dا��� \A� أA وB �Tة '�3 ا��ا ]$� AB = 6cm .  
     -   �dا���  \Aأ�C �*dن ا���C6 ]$Z?    [[[[AC]]]]3�  ا�dQ ة�Tا�  

     -��   ]3e�ا� �*$)fABC  
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